$$\begin{array}{c} (1) a) (-3)^{8} & b) y^{20} & c) (b+2)^{24} & d) - 64x^{2}y^{2} \\ (2) a) \frac{5^{6}}{5^{3}} = \frac{5^{3}}{5} & b) 17^{4} & c) \frac{49x^{10}}{y^{4}} & d) \frac{6}{5^{9}} = \frac{7^{25}15}{75^{6}} \\ (3) a) + b) (\frac{3}{2})^{3} = \frac{27}{8} \\ (3) a) + b) (\frac{3}{2})^{3} = \frac{27}{8} \\ (4) a) 1.812 \times 10^{4} & b) 1.197 \times 10^{-1} \\ (5) a) a + b) (\frac{3}{2})^{4} & c) + \frac{1}{10^{-1}} \\ (5) a) a + b) (\frac{3}{2})^{4} & c) + \frac{1}{10^{-1}} \\ (5) a) a + b) (\frac{3}{2})^{4} & c) + \frac{1}{10^{-1}} \\ (5) a) a + b) (\frac{3}{2})^{4} & c) + \frac{1}{10^{-1}} \\ (5) a) (\frac{1}{2})^{4} & \frac{1}{3} = b \\ (\frac{1}{2})^{6} & \frac{1}{2})^{4} & \frac{1}{3} = b \\ (\frac{1}{2})^{6} & \frac{1}{2})^{2} & \frac{1}{2} + \frac{1}{3} \\ (3) a) x^{3} - 3x^{2} - 2x^{2} - 6x + x - 3 \\ (3) a) x^{3} - 3x^{2} - 2x^{2} - 6x + x - 3 \\ (4) 3x^{2} - 10x - 8 \\ (3) a) x^{3} - 3x^{2} - 2x^{2} - 6x + x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (4) 3x^{2} + 10x - 8 \\ (3) a) x^{2} - 2x - 8 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 2x^{2} - 6x + x - 3 \\ (3) a) x^{2} - 2x - 8 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (3) a) x^{2} - 2x^{2} - 6x + x - 3 \\ (3) a) x^{2} - 3x^{2} - 5x - 3 \\ (4) a) x^{2} - 3x^{2} - 5x - 3 \\ (5) a) x^{2} - 2x^{2} - 6x + x - 3 \\ (7) a) x^{2} - 5x - 3 \\ (7) a) x^{2} - 3x^{2} + 10 \\ (7) a) x^{2} - 3x^{2} + 10 \\ (3) x^{2} - 3x^{2} - 25 \\ (7) a) x^{2} - 10 \\ (3) x^{2} - 3x^{2} - 25 \\ (7) a) x^{2} - 10 \\ (3) x^{2} - 2x^{2} - 5 \\ (7) a) x^{2} - 10 \\ (3) x^{2} - 2x^{2} - 5 \\ (7) a) x^{2} - 10 \\ (3) x^{2} - 2x^{2} - 5 \\ (7) a) x^{2} - 10 \\ (3) x^{2} - 2x^{2} - 2x^{2} - 2x^{2} - 2x^{2} \\ (3) x^{2} - 10 \\ (3) x^{2} - 10 \\ (3) x^{2} - 2x^{2} - 2x^{2}$$

Finals Review Page 1

$(2) y = -16t^{2} + 46t + 6 \qquad (3)$ $y = -2(8t^{2} - 23t - 3)$ $y = -2(8t + 1Xt - 3)$ $8t + 1 = 0 t - 3 = 0$ $t = \sqrt{8} t = 35ec$ $(4) a) (Z + 15)(Z - 15) \qquad b) 2(1 - 1) $	$\begin{bmatrix} 2x-1 & x(2x-1)-21 \\ 2x^2 - x - 21 = 0 \\ 2(7/2)-1 & (2x-7)(x+3)=0 \\ 7-1 & 2x-7=0 & x-3=0 \\ Ginches & x=7/2 & x=3 \end{bmatrix}$
d)y(y+3)+x(y+3) e)55	$\begin{array}{l} 4n^{2}) & c)(4p-1)(4p-1) \\ 2n(1-2n) & or (4p-1)^{2} \\ 2(s^{2}-25) & f)b^{2}(2b+3)-4(2b+3) \\ 2(s+5)(s-5) & (b^{2}-4)(2b+3) \\ & (b+2)(b-2)(2b+3) \end{array}$
(5) a) (0,0) Oreflected over x-axis (-1,-4) (1,-4) Over x-axis stretch by 4	b) $(-1,1)$ (D vertical stretch by 2 (0,-1) $(2 \lor 1$
$\begin{array}{c c} (b) & & & \\ (-1,1) & 1 & & \\ (-1,1) & 1 & & \\ (0,1) & & & \\ \hline \\ & & & \\ & & \\ & & \\ (-2,-3) & & \\ &$	b) vertex: $-b = 4$ 2a = 2(2) = 1 $y = 2(1)^2 - 4(1) - 3$ y = 2 - 4 - 3 y = -5
(17) a) use calculator! find zeros b) $-x^2 -7x + 8 = 0$ NO SOLUTION $X = -8, 1$	
(a) $3x^2 + 7 = 4$ b) $7n^2 + 5 = 9$ $3x^2 = -3$ $7n^2 = 4$ $\sqrt{x^2} = \sqrt{-1}$ $\sqrt{n^2} = \sqrt{\frac{4}{7}}$ $\sqrt{x^2} = \sqrt{-1}$ $n = \pm 0$	$\int (W-4)^2 = \int \frac{5}{3}$ W-4=±1.29
$\int (x-7)^{2} = \int 100 \qquad 20$ $x-7 = \pm 10 \qquad 2(0)$ $x = -3, 17 \qquad a$ a^{2}	$\begin{array}{rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr$